1. ¥B4
B4 AN 5 AEEEFEGH KR ZRILE T VA EREYS
J@AT ST E) | HBFTE N
2. FEBNE
1) FEEFEH A 64 1H 7) MR AR, REUR
2) EHHA HHERIEET  PEdakER 8) M1 X A HIX
3) KEER 23873661020021 9) Il - B G|
4) TRIXSy WA (M LEET) OSTEE 10) #aHEA A 64 1H
5) ARk 11) FHE— 0%
6) JEATHIH 295 A H & 64 3H 1H 12) B4 A 64 3H
(440 B A 6F12H20H 1.3) x4 A 64 3H
(3 mLH) = # A H 14) AEEREHH !
15) IR E
BGIEL LS HEHNE
AT, BEHERE - AR S BRSO — e T VAR T 5 L &
Hio, BHREIC XY | T AANEEEZRET 2 2 & T, IR B O &
b« ZhRATE T D EOVNAR =BT E N~ D7 — 5 BT 28T
b2,
3. THFH
1) THEFH 2) H 3) HOMM5y 4) L

o [ ()R



AR
X A /\ =
¥4 | D5 EEZEGHIACR ZIRITE T WAERER E e
H H ZRTTET NMERR
IHE - Tfd - FR - 5] Bk L==7va g HAA B BRI, SRR e
ZRITTET MERR
= 1 16, 076, 448
ZIRTTET IAERR
= 1 16, 076, 448
A
= 1 393, 750
Y A 1 &
= 1 393, 750
BiHUHE SRR
= 1 549, 360
B S et " 9 B
= 1 549, 360
ZWRICETINT — XK
= 1 14, 677, 383
N B 1
# 5 964, 200 4,821, 000
— 1 —

T PEMTRER R



Xt PNaRE

¥4 | D5 EEZEGHIACR ZIRITE T WAERER E e
H H ZRTTET NMERR
IHE - Tfd - FR - 5] Bk L==7va S BAfff B BRI, SRR e
RIRAR T AN 35
= 1 664, 785
BTN N 4 5
= 1 941, 598
HEZK B 2 &
H 20 412, 500 8, 250, 000
A EER
= 1 455, 955
s EER N 5 &
= 1 455, 955
ItiE
= 1 238, 950
s
= 1 238, 950
FIEw5
= 1 238, 950

-2 - S nl i E WS M ESbE VAR 3



AR
X g /\ =
¥4 | D5 EEZEGHIACR ZIRITE T WAERER E e
H H Ieim
IHE - Tfd - FR - 5] Bk L==7va g HAA B BRI, SRR e
et N 6 5
= 1 238, 950
E R
= 1 235, 539
[ERES S
= 235, 539
b=l
# 80, 539
e (GREE - 1EIRMm) N 75
=V 80, 539
B R B
= 155, 000
B A VB N 8 &
= 155, 000
B
= 16, 550, 937
— 3 —

S nl i E WS M ESbE VAR 3



AR
X g /\ =
¥4 | D5 EEZEGHIACR ZIRITE T WAERER E e
H H EiteRlilieey
IHE - Tfd - FR - 5] Bk L==7va S BAfff B BRI, SRR e
R 2
= 1 10, 369, 063
R W 9 =
= 1 10, 369, 063
il e s
= 1 26, 920, 000
THEFUFE S0
= 1 2,692, 000
WG
= 1 29, 612, 000
— 4 —

S nl i E WS M ESbE VAR 3



N Bl 4F A 2024. 03
/j 'K Ijﬂ A AR 2024. 03
SRR 1. 000-0000-0000-0000-0000-1-0 0
FH Y
SR - B ESLE HAfL ey HAM &4A e
P s
=, 1 393, 750
393, 750
= i—: B AR A 2024. 03
1 Yj 5( W =R SBEEMER 202403
H = TS AR 1. 000-0000-0000-0000-0000-1-0 0
B HAS S e
TR - HiRE 51 BT Yo HAAT &HA e
Bl et M 11 5
= 1 549, 360
549, 360

S nl i E WS M ESbE VAR 3



\ = HAM G 1 4FH 2024. 03
/j ;'\, Ijﬂ ﬁ R A A A 2024. 03
SRR 1. 000-0000-0000-0000-0000-1-0 0
PR/ SNs”
SR - B ESLE &4A e
KRR T N 12 B
664, 785
664, 785
N B AR A 2024. 03
/j_\’ I; ‘| A AR H 2024. 03
TS AR 1. 000-0000-0000-0000-0000-1-0 0
NSRSt v/Nr =
TR - HiRE 51 &HA e
BT B o133 =
941, 598
941, 598

S nl i E WS M ESbE VAR 3



N = i Bl 4F A 2024. 03
/j ;'\, Ijﬂ = R i A H 2024. 03
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
WA EERK
SR - B ESLE HAfL B &4A e
S EER w 14 &
=, 1 455, 955
455, 955
= i—: B AR A 2024. 03
Yj_\’ W :R SBENEITIER 2024 03
B = TS AR 1. 000-0000-0000-0000-0000-1-0 0
et
TR - HiRE 51 BN Yo &R e
rég N 15 &
= 1 238, 950
238, 950

S nl i E WS M ESbE VAR 3




N = i Bl 4F A 2024. 03
/f'R: Ijﬂ = R A A A 2024. 03
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
75 g (FaEE - E1HE
THH SR - B ESLE HAfL ey AT x| e
[EEEINLEE
= 14, 382, 100
g (REFE - mihE
A X0. 0056
= 80, 539
80, 539
= B AR A 2024. 03
Yk |j<] = = SR | 202409
H = TS AR 1. 000-0000-0000-0000-0000-1-0 0
8 = TR R
HH L - B 51 BN Yo AT &HA e
[EREINE
= 14, 382, 100
R TR 2. 3XEANE (FH) 0. 44
SREESTIVES)!
= 155, 000
155, 000

S nl i E WS M ESbE VAR 3



N = i Bl 4F A 2024. 03
1 /j k P ‘l :R S5 AR A 2024. 03
H = F s AR R 1. 000-0000-0000-0000-0000-1-0 0

3] 9 = A

e 0 - LR Al i Bk il = %
MR
PR Z <
N 1 16, 550, 937
et
% 62.7
R
WEHERI R P X
= 1 10, 377, 437
T
-8, 374
it
10, 369, 063

-5- Etrmd  PE TR R



N NAWA Bl 4F A 2024. 03
/j ;'\, ’f ﬂﬂ i% A A A 2024. 03
SRR 1. 000-0000-0000-0000-0000-1-0 0
H 1 % KA B B j
BN B BT
1 964, 200
HH SR - B ESLE HAfL ey AT x| e
kM B 3 B
pre 964, 200 964, 200
964, 200
B

964,200 |, %
N AW B AR A 2024. 03
/j_\’ E‘ ’f ﬁﬁ i% A AR H 2024. 03

TS AR 1. 000-0000-0000-0000-0000-1-0 0
H 2 HEK o j
BN & B
1 412, 500
HH TR - HiRE 51 BN # HAAT e e
ek B 4 =
H 412, 500 412, 500
412, 500
HAAT
412,500  |H 3

S nl i E WS M ESbE VAR 3



